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[Participant ID: 152025113380002
Participants Name:|ROHIT KUMAR

Test Center Name: [Utkarsh Srivastava Public School - Lucknow
Test Date: 26/09/2018

Test Time: 9:00 AM -10:30 AM

Subject: Level 1

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted

and used for raising objections
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

678913946
6789133783
6789133781
6789133782
6789133784
Answered

4

H 144 m 1 gh & B # a7 F §, 3R Ad =@ A SR

Q2 3w vs 72 m % AT § T §1 T8 TF R ¥ gE O a9 R o AT 99 38 T8 A




e X1 204 ms!

V224 ms'!
X3 260 ms'!
X4 3687 ms!
Question ID : 678913956
Option 11D : 6789133823
Option 2 ID : 6789133822
Option 31D : 6789133821
Option 4 ID : 6789133824
Status : Answered
Chosen Option : 2
Q-3 29th of November 2018 is a Thursday. 29th of November 2021 will be a ,
Ans X 1. Saturday
< 2. Sunday
v 3. Monday
X 4. Friday
Question ID : 678913916
Option 11D : 6789133662
Option 2 ID : 6789133663
Option 3 ID : 6789133664
Option 4 ID : 6789133661
Status : Answered
Chosen Option : 3
Q4 RffeT v F T FaF ¥ fHETr F R T Fr FIAFT F 37T AT I B
Ans x
1. epEAT
X 2. FrARISAT
X 3 TEFeIAdIS AT
v o AfEAtEE
Question ID : 678913977
Option 11D : 6789133905
Option 2 ID : 6789133906
Option 31D : 6789133908
Option 4 ID : 6789133907
Status : Answered

Chosen Option : 4

of India (SEBI) on 7 November 20177

Ans X1 UK. Sinha
< 2. V. Ramakrishnan

X 3. Neelam Damodaran

Q.5 Who among the following was appointed as a whole-time member of market regulator Securities and Exchange Board




« 4 Sanjeev Kaushik

Question ID : 6789131000
Option 1 ID : 6789133997
Option 2 ID : 6789133999
Option 31D : 6789133998
Option 4 ID : 6789134000
Status : Answered
Chosen Option : 4
Q.6 ¢
hmm#ﬁﬁmﬁmwﬁwmmaﬁl
cot 307 3 1 +sin 45°
1 +sindb® cot30°
Ans =
x 7 543-646
B
X23-243
3 144/3-5v6
B
ll__ Il_
x 4 ByE—0v3
B
Question ID : 678913921
Option 11D : 6789133683
Option 2 ID : 6789133684
Option 31D : 6789133681
Option 4 ID : 6789133682
Status : Not Answered
Chosen Option : --
Q.7
TF g gl
Ans .
X 1. FIAfREHE (Magnesium)
v 2 F=iE (Chlorine)
X 3. Theaia (Krypton)
X 4 AT (Sodium)
Question ID : 678913974
Option 11D : 6789133893
Option 2 ID : 6789133895
Option 31D : 6789133894
Option 4 ID : 6789133896
Status : Answered
Chosen Option: 2

Ans

¥ gfEe Ties AN R aEfiEe

X1 3TUTTS weer

=l




3 TERId

e
X 4 HgRISE
Question ID : 678913996
Option 11D : 6789133982
Option 2 ID : 6789133981
Option 3 ID : 6789133984
Option 4 ID : 6789133983
Status : Answered
Chosen Option : 2
Q.9 :
f=fafeT & ¥ i & Reew smsfa erelr et
SR T
| o0><a0 | o0o0< | <oooo> | ?
A B C D
S00=00 | o000 | So0ep | 2=00a0
Ans x 1.6
X2 A
v:D
X4B
Question ID : 678913944
Option 11D : 6789133775
Option 2 ID : 6789133773
Option 31D : 6789133776
Option 4 ID : 6789133774
Status : Answered
Chosen Option: 1
Q.1
0 cot*® + cot?8 = 2.2, A cosec*d - cosec?f =7
Ans x 1.0
X211
X333
422
Question ID : 678913923
Option 11D : 6789133689
Option 2 ID : 6789133690
Option 31D : 6789133692




Option 4 1D : 6789133691
Status : Answered
Chosen Option : 4

G #rr & 9 sEeT F AR IEET FE AT H
26, 29, 33, 38, .

Ans X142
X2 50
V'3 44
X 4 54
Question ID : 678913937
Option 11D : 6789133745
Option 2 ID : 6789133747
Option 31D : 6789133746
Option 4 ID : 6789133748
Status : Answered
Chosen Option : 3
Q.1 o _
> TfE C=24, EYE=46, af FOX T 7
ae 1. 38
v 2 36
<3 35
X 4 40
Question ID : 678913934
Option 11D : 6789133735
Option 2 ID : 6789133734
Option 31D : 6789133733
Option 4 ID : 6789133736
Status : Not Answered
Chosen Option : --

%' ‘COUGH #r &ifast adur oy Fa7 &ref?

COUGH HaU02 CONeH HEIO2
A B C D
Ans X1 D
X2B
X3 A
v

Question ID : 678913955
Option 11D : 6789133820




Option 21D : 6789133818
Option 31D : 6789133817
Option 4 1D : 6789133819
Status : Answered
Chosen Option : 4
Q.1 L
A A T aTT siwEl & agerh, ACas AR AT F AYTA FATEAF AT BT
7, 2,10, 4, 3, 12, 8, 4, 6, 4.
ans 1. 30
X212
v 60
X420
Question ID : 678913922
Option 11D : 6789133685
Option 2 ID : 6789133686
Option 31D : 6789133687
Option 4 1D : 6789133688
Status : Answered
Chosen Option : 2
Q.1 ¢
5 TAFATAET S0 H 37T 9 &7 glem?
24X, 22V, 20T,
Ans o 1 18R
X 2 16P
X 3 R18
X4 P16
Question ID : 678913938
Option 11D : 6789133750
Option 2 ID : 6789133752
Option 31D : 6789133749
Option 4 ID : 6789133751
Status : Answered
Chosen Option : 1
Q.1 4o kg FETHI AN W ARG @ 6 s # OmsT F 17TmsT & T ¥ vewAw w9 @ w@iE B S
¥ ITg T TN AT A & I 2l
Ans -
<1 200 ms™
X2 -1
200 ms
'3 200 N
< 4 200 Pa
Question ID : 678913958
Option 11D : 6789133831
Option 2 ID : 6789133832
Option 31D : 6789133829




Option 4 ID : 6789133830
Status : Answered
Chosen Option : 3
Q.1 Which of the following project’s objective is to ensure the operational turnaround of the banks and stressed companies?
7
Ans X 1. Project Samridhi
< 2. Project Sukanya
' 3. Project Sashakt
/< 4. Project Parivartan
Question ID : 678913999
Option 11D : 6789133996
Option 2 ID : 6789133995
Option 3 ID : 6789133994
Option 4 ID : 6789133993
Status : Answered
Chosen Option: 1
Q.1
s 6xy2z, 8x2y3z2 12x3y3z® &1 A.H. Fla HIi=Tl
Ans X 1. 2xyz
X 2 4xy?z
X 3 3xy?z
v 4 2xy?z
Question ID : 678913901
Option 11D : 6789133604
Option 2 ID : 6789133602
Option 3 ID : 6789133603
Option 4 ID : 6789133601
Status : Answered
Chosen Option : 4
Q.1 ; : .
o 23.3 g zinc #, AleT @ gEar grar gl
Ans o' 1. 0.35
< 2 0.25
< 3 0.53
X< 4 0.37
Question ID : 678913969
Option 1 ID : 6789133875
Option 2 ID : 6789133874
Option 31D : 6789133876
Option 4 ID : 6789133873
Status : Answered

Chosen Option : 4

Q.2




" B AT A e

Ans1. 10
211
3. 15
413

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 678913952
Option 11D : 6789133808
Option 2 1D : 6789133807
Option 31D : 6789133805
Option 4 1D : 6789133806
Status : Answered
Chosen Option : 4
01-2 TF FUS F A &7 T oF T §| AR Tg 97 R § F Fua F w9y F FF @ FF / mw=g E
FUA:
FT Torstell & FEThal H FH i & [0 Tclsr B S GIT Foi T STAET FHEr GIige?
G
| &7, 5H TEAl H 9 g AR TR segeer @ o s feem
II. &, ¥ e § st ofemd & R mf o == wie = T f
Ans ;
K11 AR & meeT
XKegarldRa &Il Asgg &
V3 Fad d% | AsEd §
LY L
X 4 Faer 7% || A9
Question ID : 678913935
Option 11D : 6789133737
Option 2 ID : 6789133739
Option 31D : 6789133740
Option 4 ID : 6789133738
Status : Answered
Chosen Option : 3

Q2 2017 # AT 643 Ferrel oot 318 & TEHSE HPAT 1 TEHR 5wy em?
Ane XK. anfeR @re




X 2. AMETE WA
o 2 3T FHAR
X 4 ToTHTT @l

Question ID : 678913984
Option 11D : 6789133933
Option 2 ID : 6789133936
Option 3 ID : 6789133935
Option 4 ID : 6789133934
Status : Answered
Chosen Option : 3
Q.2 i .
s T B WA F A GET AT A FEd Bl
A _
ns « 1 31_ ﬁ F
X 2 SEmRF (SiEe) F=T
X 5. FaTia(eTEE)Far
K 4 qTAIT FAr
Question ID : 678913966
Option 11D : 6789133861
Option 2 ID : 6789133863
Option 31D : 6789133864
Option 4 ID : 6789133862
Status : Answered
Chosen Option : 2
Q2 zgo0 Frar T 20% I o X e Py P s 3 SR = s oadr ao v = 18
e AIE 9o {fer g
Ans of 1. T 7,986
X 2 T 7,896
X 3 T 7,800
X4 T 7,928
Question ID : 678913912
Option 11D : 6789133647
Option 2 ID : 6789133645
Option 31D : 6789133646
Option 4 ID : 6789133648
Status : Answered
Chosen Option : 3

Q.2




v v FuEr R Fredt & aoeEE 9 it g9 & FF @ Ty afde w9 F Fue & e
= #

Ye:

WS I FA TG ek A T8
forsad:

|. AT ST 38T F74T FT 2l

II. & T TH qUEAHT F A% TR F

MUK A A ER A &I HgERr e B
2 Faer TS || HeTEROT FET B
X 3 el TS | HFETOT T B
X o AT TSRy e wd g

Question ID : 678913932
Option 11D : 6789133727
Option 21D : 6789133726
Option 31D : 6789133725
Option 41D : 6789133728
Status : Answered
Chosen Option : 2
Q.2 Vimal is the son of Mikka, and Nina is the daughter of Milan. Milan is the sister of Mikka. Who is Milan to Vimal?
6
Ans X 1. Sister
' 2. Paternal aunt
< 3. Maternal aunt
< 4. Cousin
Question ID : 678913927
Option 11D : 6789133708
Option 2 ID : 6789133705
Option 31D : 6789133706
Option 4 ID : 6789133707
Status : Answered
Chosen Option: 3
Q.2 24 experts can do as much work as 40 trainees in a given period of time. A piece of work can be done by 9 experts and
7 25 trainees. How many trainees alongside 12 experts would one need to complete a similar work in the same duration of
time?
Ans X 1. 22
v 2 20
X318
X424
Question ID : 678913914
Option 11D : 6789133655
Option 2 ID : 6789133654
Option 31D : 6789133653




Chosen Option :

Option 4 ID : 6789133656
Status : Answered
Chosen Option : 2
L Rrafofea 4o & wea fEa (7) # B9 @ TE viowiE wEh
~
s | AA VYA | KO NG| A *
i | N NG| AA A4 | KO
| —
A | KO A K | A B
NG| AA YA | N
C NG| YA D
A58 | KO
A5 | NOY
Y| YA
Ans ‘,1. C
X2 A
X3B
X 4D
Question ID : 678913949
Option 1 ID : 6789133795
Option 2 ID : 6789133793
Option 3 ID : 6789133794
Option 4 ID : 6789133796
Status : Answered
Chosen Option: 1
Q.2 - : - :
g ST 9I3ET A =T Teie faegaA= g g
Ans ‘,
AN
X2 gifes
X3 yrmfes
X 4 grEEeTe
Question ID : 678913972
Option 11D : 6789133887
Option 2 ID : 6789133888
Option 31D : 6789133885
Option 4 ID : 6789133886
Status : Answered

1

Q.3




B e vF dER &1 7.2 A # 9T = dwar § FES AY F aE FF 5 A 10.8 BT W
TSH-ATS HTH el 9 SN &F 5/6 96T F 92 a4 7 ey Ty swer?

Ans X 1. 4.8
V2 36
X339
X4 42
Question ID : 678913913
Option 11D : 6789133649
Option 2 ID : 6789133650
Option 31D : 6789133651
Option 4 ID : 6789133652
Status : Answered
Chosen Option : 2
Q.3 3-0.2 iy
0.1 % (3+0.2) :
Ans of 1. 8.75
X2 875
X 3.0.0875
X 4 0.875
Question ID : 678913908
Option 11D : 6789133630
Option 2 ID : 6789133629
Option 31D : 6789133632
Option 4 1D : 6789133631
Status : Answered
Chosen Option: 1
Q.3 . - . ‘o
2 U T sj@er A 3ETE HEAT g2
1200, 600, 300, :
Ans X 1. 75
v 2 150
< 3 250
X 4 500
Question ID : 678913936
Option 11D : 6789133741
Option 2 ID : 6789133743
Option 31D : 6789133742
Option 41D : 6789133744
Status : Answered
Chosen Option : 2
Q.3




T 39 FX A g e A # T I) ST €] 6 T8 A 56 UaR # Ugier #ET §,
ar 3Te eag 98 O F o smash?

Ans V1 FEEER AR gER

X 2 FareEt 3R afaEr
X o HFER R AR

X 4 Ryar A afeEr

Question ID : 678913951
Option 11D : 6789133801
Option 2 ID : 6789133804
Option 31D : 6789133803
Option 4 ID : 6789133802
Status : Answered
Chosen Option : 2
Qf 0364+0.284=-04%x08-0.038=?
Ans X 1.1.25
X 2 0.548
X312
v 4 0.89
Question ID : 678913902
Option 11D : 6789133606
Option 2 ID : 6789133608
Option 31D : 6789133607
Option 4 ID : 6789133605
Status : Answered
Chosen Option : 4
053 fFeaffa & ¥ Fi9 & FFeT 3Pa T HFTH & Feead T goer &2
A B D
Ans “ D
X2C
X3B
X4 A
Question ID : 678913945
Option 11D : 6789133780
Option 2 ID : 6789133779
Option 31D : 6789133778




Option 4 ID : 6789133777
Status : Answered
Chosen Option : 1

s T 2018 ¥ AT F FEAET FiA 7

Ans

X . & g T
X 2 UF Teg 91 ATIZ

v F agdEr 19
X 4 F IR TH T

Question ID : 678913992
Option 11D : 6789133968
Option 21D : 6789133967
Option 31D : 6789133965
Option 41D : 6789133966
Status : Answered
Chosen Option: 3
@3 The objects that produce their own light are called as:
Ans 3 1. Transparent objects
+ 2 Luminous objects
/X 3. Translucent objects
< 4. Nonluminous objects
Question ID : 678913963
Option 1 ID : 6789133852
Option 2 ID : 6789133850
Option 31D : 6789133851
Option 4 ID : 6789133849
Status : Answered
Chosen Option : 1
Q.3 :
s T TTIT x4584, 11 ¥ fs=w §, & x 7 AT &7 297
Ans x 1. 4
X2 2
V33
X445
Question ID : 678913906
Option 11D : 6789133622
Option 2 ID : 6789133624
Option 31D : 6789133623
Option 4 ID : 6789133621
Status : Answered
Chosen Option: 3

Q.3




e FT WX 2
A 1 Jroer SeTTer EEIR

X 2 | e

X 3 Ferehr @1

X 4 dger
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

678913997

6789133988
6789133986
6789133985
6789133987

Status : Answered
Chosen Option : 1

flows into them causing the stomatal pore to open.

064 The guard cells swell when

Ans X' 1 enzyme
V' 2. water
/< 3. chemical
& 4 hormone

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

678913978
6789133911
6789133910
6789133912
6789133909
Answered

2

01-4 a¥ 2017 &, fow saida sfoafar & sde 7w ve #fgen @ g & & watew e W
T ar?

At o fr o ww

X 2 & grér AfEuma grhr
A5 fg grdr aes 9

X 4 T FiEaEey fEg

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

678913982
6789133926
6789133927
6789133925
6789133928
Answered

3

Q.4

2 T H 928 AT H 8 zaFedr & A 9T FET 2T
ans X1 XE




X 2 Kr
V'3 Ar
X 4 Ne

Question ID :
Option 1 ID
Option 21D :
Option 31D
Option 4 ID

Status:

678913967

16789133868

6789133866

1 6789133867
1 6789133865

Answered

Chosen Option : 3

Q4 w= B Fr gE & HoET-aeE Eant @ 8% BT e 1@ Fr 600 Se mieeT ¥ 20% A R

3 .1 3k 80% Aer T -2 ¥ R AT ¥ O dtw # FT HEU T 25 ¥ AT -2 & AW A e
FTA F &G, GFEWEN H AT T § 7 25% A fFF e e $r 33 g% & s9er B o wwar
El 58 F@e avw sies = SEer sar §1 AT -2 ¥ 3% fhaer oF aw e

Ans X1 % 3,500
v 2 % 3,000
X3 % 3,750
2 4 % 4,000

Question ID : 678913943
Option 11D : 6789133770
Option 2 1D : 6789133771
Option 31D : 6789133769
Option 4 ID : 6789133772
Status : Not Answered
Chosen Option : --

Q.4 Pallavi’s house faces East. On entering her home, you will find a gallery to the right-hand side and on moving 90°
4 clockwise from the gallery there is a balcony. Which direction does the balcony face?

Chosen Option :

Ans  of 1. East

X 2. South

X 3. North

X 4 West
Question ID : 678913954
Option 11D : 6789133813
Option 2 ID : 6789133816
Option 31D : 6789133815
Option 4 1D : 6789133814

Status : Answered

4

Ans

X1
V23
X3 2
X a4

Q.4 In the modern periodic table, elements having atomic numbers 11 to 18 are placed in period:
5




Question ID : 678913975
Option 11D : 6789133899
Option 2 ID : 6789133897
Option 31D : 6789133898
Option 4 ID : 6789133900
Status : Answered
Chosen Option : 2
06-4 TF FEAGES FT T o= 37cm AR $HH 896w 840cm? ¥ W RHUT ¥ wEE 7 AT A
Eaicl
Ans 1. 84 cm
X 2 47 cm
<3 42 em
v 4 94 em
Question ID : 678913925
Option 11D : 6789133697
Option 2 ID : 6789133698
Option 31D : 6789133700
Option 4 ID : 6789133699
Status : Not Answered
Chosen Option : --
°7-4 foral Ivg F1 aR(E) 20 kg ¥ T F 3@ TG F AR (F2)FA & [g = 9.8ms 2]
Ans o 1.196 N
<2196 N
X3 -196 N
< 41960 N
Question ID : 678913959
Option 11D : 6789133833
Option 2 ID : 6789133834
Option 31D : 6789133835
Option 4 ID : 6789133836
Status : Answered
Chosen Option : 1
Q.4 * i
o oHTeT FId, F 3cUET ¥ meEfea gl
Ans X 1. RIS el
v o garferms
X 3 e 3T
X 4 e
Question ID : 678913998
Option 1 ID : 6789133989
Option 2 ID : 6789133990
Option 31D : 6789133992
Option 4 ID : 6789133991




Status : Answered
Chosen Option : 4

Q.4 A group of five students took a test. Another student joins the group after taking the test later. With her marks included,
9 the average score of the group went up by 2. This student has got marks more than the average marks without
her being included.

Ans X115
X2 14
V'3 12
X 418

Question ID : 678913924
Option 1 ID : 6789133695
Option 2 ID : 6789133693
Option 31D : 6789133694
Option 4 ID : 6789133696
Status : Answered
Chosen Option : 3

Q.5 4
0 @

= & $EF W &7 H qRafad v
Ans 1

i
R
X2~

3

1
1’3»2—

7

X4.i

26

Question ID : 678913903
Option 11D : 6789133612
Option 2 ID : 6789133609
Option 31D : 6789133610
Option 41D : 6789133611
Status : Answered
Chosen Option: 3

Q.5 7w vs 95 m oF AT § T §1 98 TF OR ¥ gE! BN a9 R o A 99 38 T8 A
T %190 m & gff v free & a7 a<an 8, 3HH siwa I wE ST

Are K1.2.05 msT
X2 310 ms!
<2200 ms'!
v 317 ms’

Question ID : 678913957
Option 11D : 6789133827
Option 2 ID : 6789133826
Option 31D : 6789133828
Option 4 ID : 6789133825
Status : Answered




l Chosen Option : 4

02-5 T FH 3H § AEE vEe AR AEe TeRW (T 1 weEe Rrew) | e ava s aelr g
T &7

Ans x‘laﬁ'qﬁ

X 2. O qriEer
X 3. 3r%ToTAT =g
4. FeTary qUI
Question ID : 678913990
Option 11D : 6789133958
Option 2 ID : 6789133960
Option 31D : 6789133959
Option 4 ID : 6789133957
Status : Answered
Chosen Option : 2
Q5 Tz F AT 20 cm X 12cm X 8 em £ 168 m F0, 26 m A v 12 ecm A S o= &
3 fru fraer &1 Hr =TT B9
Ans X 1. 6252
< 2. 2652
< 3 5262
v 4 2625
Question ID : 678913919
Option 11D : 6789133675
Option 2 ID : 6789133674
Option 31D : 6789133676
Option 4 ID : 6789133673
Status : Answered
Chosen Option : 4
045 & IR ET oETS GE HT AT g A T Fr AT FA @ A1 E
Ans x 7 & ﬁ g
v 2 i
X3 TH
X4 F Stars
Question ID : 678913965
Option 1 ID : 6789133857
Option 2 ID : 6789133858
Option 31D : 6789133860
Option 4 ID : 6789133859
Status : Answered
Chosen Option: 2

% g WERR Sfae A gEl 4R Ao Geate e Ha o6




A 1 afEee Aae &
Xz.mazﬁ-
X 3 gt =
x4 fefa e

Question ID :
: 6789133924
1 6789133923
Option 31D :

Option 1 ID
Option 2 ID

Option 4 ID

678913981

6789133922

: 6789133921
Status :
Chosen Option :

Not Answered

e X1 288 Tfeew

QS5 o ue & fart & wEars s O G & qET & e B F wee §1 3 uA & e @
BT A T F SIS & HFT A & ST g, dF " @ R F wEg e g

v 2 576 TfweH

X 2 432 FfAeH

X 4 336 FfecH
Question ID : 678913920
Option 11D : 6789133680
Option 2 ID : 6789133679
Option 31D : 6789133678
Option 4 ID : 6789133677

Status : Answered
Chosen Option: 2
Q.5 L5,
> ueEETE(EEee) St g
Ans

X 1. el

V2 TEgA

X 3 TS

a1
Question ID : 678913976
Option 11D : 6789133903
Option 2 ID : 6789133901
Option 3 ID : 6789133902
Option 4 ID : 6789133904

Status : Answered
Chosen Option: 3

Q.5




IS o T & T

=1 T2 | T=F 3

¥ 1 15 12 9
=¥ 2 12 14 8
av 3 14 15 13

a1 F av 3 H R F A g IR 87
ans K1 18%

3= F AN & v A ais & 3 avf & v F e d= afes & Re oaw #)

X 2. 15.67%

X3.19.67%

v 4 16.67%
Question ID : 678913942
Option 11D : 6789133768
Option 2 ID : 6789133766
Option 31D : 6789133767
Option 4 ID : 6789133765

Status : Answered
Chosen Option : 4
Q.5 o S
s AeATf@d # & $la T T T HqIF 82
Ans -

X 1. Tels

< 2. |l

v 5 gt

X 4 gedr
Question ID : 678913971
Option 11D : 6789133884
Option 2 1D : 6789133881
Option 31D : 6789133883
Option 4 ID : 6789133882

Status : Answered
Chosen Option : 3

0 s

Ans ‘,1. Tlﬁ?l'mﬁ'
X 2 gErEtaE e
X o feufas F=r

X 4 iy F=r

Q.6 firel vg F Foa 7 & e & ghw, Pefeflm & @ #9 @ 5= s o F R e g W




Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status : Answered
Chosen Option :

678913962

6789133847
6789133846
6789133845
6789133848

1

% g F gl et F Fi @ =T @ i
e fefas we

X 2 fagga Fen

Ko afgs Far

X 4 TCATRIOT FaAT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

678913960
6789133838
6789133840
6789133837
6789133839
Answered

1

W{@40-(0+5xT6-8 +2+3)=7

ane 1. 14
X2 64
v 16
X 428

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

678913904
6789133616
6789133613
6789133614
6789133615
Answered

3

Q.6 TRy & F Fi7 T I F 17 § #RAT T 3FE TRt § T4 TAER I - B
3 = gwER S b

Ans x_l.qwu__qg
Vo TS TF

X s ST 23
X 4 ST 7T

Question ID : 678913985
Option 11D : 6789133939
Option 2 ID : 6789133940




Option 31D : 6789133937
Option 4 ID : 6789133938
Status : Answered
Chosen Option : 2

Ans | S

2. Cl
3. Mg
4. Al

% T SRS o B

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 678913968
Option 11D : 6789133871
Option 2 ID : 6789133869
Option 3 ID : 6789133872
Option 4 ID : 6789133870
Status : Answered
Chosen Option : 4
05-6 Who is the first chairman of the Goods and Services Tax (GST) Council?
Ans X 1. Prakash Javadekar
#< 2. Suresh Prabhu
/< 3. Rajnath Singh
V' 4 Arun Jaitley
Question ID : 678913989
Option 11D : 6789133956
Option 2 ID : 6789133953
Option 3 ID : 6789133955
Option 4 ID : 6789133954
Status : Answered
Chosen Option : 4
°6-5 S, R¥ 7 a¥ Oer ¢ AE 31 HY F 3 7:9 &, A S &1 30y e &7
Ans x " 16 §
<228 ¥
V3245 %
X418 Iy
Question ID : 678913917
Option 11D : 6789133665
Option 2 ID : 6789133667
Option 31D : 6789133668
Option 4 ID : 6789133666
Status : Answered

Chosen Option: 3




\

ELl CaEUGES
2012 10
2013 15
2014 10
2015 12
2016 12

T¥ 2012 3K 2016 F &7 & Torsiar & 9= & gfaea a1 &2

Ans X 1.0.2% e

07-6 A & T AT XYZ F9 F e (307 3T &) it gfera & amer @ geidr 2

V2 20% 3t
X 3 5% 3o
X4 12% 30w
Question ID : 678913941
Option 11D : 6789133762
Option 2 ID : 6789133764
Option 31D : 6789133761
Option 4 ID : 6789133763
Status : Answered
Chosen Option : 2
-0 i T TF ] m HET 37 ED) = AT [
0862053112161&" T@EE F e ¥ 2 I = g Hfew
Ans X 1. 41%
. 100
v2—%
41
X3 42%
100
X4 —%
51
Question ID : 678913911
Option 11D : 6789133644
Option 2 ID : 6789133641
Option 31D : 6789133643
Option 41D : 6789133642
Status : Answered
Chosen Option : 2

Q.6




Which of the following correctly represents the relationship between:
A) Pages
B) Preface

C) Books
)

S\ 00 @
A

C

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 678913950
Option 11D : 6789133798
Option 2 ID : 6789133797
Option 31D : 6789133799
Option 4 ID : 6789133800
Status : Answered
Chosen Option : 4

Q.7 mm%ﬁ%aﬂ%dﬁﬁmm#mﬁ:wm éﬁ:#@mg’lﬁqgﬁ%d‘é’ﬁmﬁﬁ

0
T TFT ¥ A IS B ST FET Wiew T 79 I - me o ¥ o oswe & fhaer
AT TEET?
X1 3 T¥ 20 fB=e
X2 3 ge 45 e
X33 u¥ 15 A=
v 3 g 30 e
Question ID : 678913918
Option 11D : 6789133670
Option 21D : 6789133672
Option 31D : 6789133669
Option 41D : 6789133671
Status : Answered
Chosen Option : 4
Q7 P -
| T H UG A IH FETE, ST AGTH _ FE

Ans x.l_ ﬁﬁf




X2 eafy

X 4 aEH

Question ID : 678913926
Option 11D : 6789133702
Option 2 ID : 6789133703
Option 31D : 6789133704
Option 41D : 6789133701
Status : Answered
Chosen Option: 3

Qfmﬁmqﬁmmmﬁmamﬁgﬁgézﬁ?
A a—s

v+

Ko HES

X e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

678913991
6789133961
6789133962
6789133964
6789133963
Answered

2

°3'7 Work is done if there is

Ans o 1 energy
X 2. power
< 3. force

X 4. friction

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

678913961
6789133842
6789133844
6789133843
6789133841
Answered

3

X 2 475
X 3450
v 4 425

Q.7 v i F 9= ¥ 272 3F T FT S 64% HF U FT F aUET oT) wieT A o 9 o
4

ans 1. 440




Question ID : 678913910
Option 11D : 6789133637
Option 2 ID : 6789133640
Option 31D : 6789133639
Option 41D : 6789133638
Status : Answered
Chosen Option : 4
Q.7 : 2 o }
s 519 Tothe & fHS0T & ST o1 H 38T A1 g, ar
Ans
v g wiafFar 78 e &
X 2 {3 foarss sa3ar g
el S
X 3. Y Fohe FAT &
X 4 O g4 7
Question ID : 678913970
Option 11D : 6789133877
Option 21D : 6789133879
Option 31D : 6789133878
Option 4 1D : 6789133880
Status : Answered
Chosen Option : 1
Q.7 . Z
¢ 3T 2018 T%, TatEeT it 9fEw Feuor 55 i 22
Ans S FEET
X 2 foge 7w
X 3. 3r%0T ST
X 4 e AT O
Question ID : 678913993
Option 11D : 6789133969
Option 21D : 6789133970
Option 31D : 6789133971
Option 41D : 6789133972
Status : Answered
Chosen Option : 1

UV eafey DAR@T & ¥ o aow & @99 a9 o aar 22
Ans x1m

v 3 9aTd

X 3 AT WA(deH)

X 4 T gETT

Question ID : 678913964




Option 11D : 6789133854
Option 2 ID : 6789133856
Option 31D : 6789133853
Option 4 ID : 6789133855
Status : Answered
Chosen Option : 2
Q.7 Tz o7 120 km $r i1 wEfre aan s fama ofg & 97 1 ofE 39 @efee wig e 3 km o
8 m@#ﬁwmﬁqﬁaﬁﬁﬁﬁmml g arEdiaes g km/hr # w9 fifew ey
e & wEfre ToE?
A 1. 12
X210
<38
v 415
Question ID : 678913915
Option 11D : 6789133658
Option 2 ID : 6789133659
Option 31D : 6789133657
Option 4 ID : 6789133660
Status : Answered
Chosen Option : 1
Q.7 3
s 30 fse ¥ 40 fAme & e &1 5w =9 7 formr s 22
Ans of 1.3 : 4
X21:80
<31:20
X44:3
Question ID : 678913909
Option 1 ID : 6789133635
Option 2 ID : 6789133633
Option 31D : 6789133634
Option 4 ID : 6789133636
Status : Answered
Chosen Option : 1
Q.8 . 2
o TUT 2018, ¥IT & W HIA HiA 22
s X1 e o
v 2 TeEds g wer
X 3 AL FAX g
x 4. '{lgod HEATTH
Question ID : 678913983
Option 11D : 6789133932
Option 21D : 6789133930
Option 31D : 6789133929
Option 41D : 6789133931




Status : Answered
Chosen Option : 2

1 share of the cake?

Q.8 Arpan, Tanvi and Rishav shared a cake. Arpan had i of it, Rishav had% of it and Tanvi had the rest. What was Tanvi’s

Ans 1
A
6
2
X2 =
6
1
X3 —
12
4
4, iz
7
Question ID : 678913905
Option 11D : 6789133618
Option 2 ID : 6789133620
Option 31D : 6789133619
Option 41D : 6789133617
Status : Answered
Chosen Option: 1
Q.8 Rr =rv FuAt ot =R # v Ao & & & o seunonat & @S9 O wum A AR b
2
FYA:
Treae yaud & 39 el & @eaE geg FaE & owon $ § S a5 w7 wer § 6 4
w4 g
AT
. ¥ faeame $r 9faser & §A1C T Ted &
Il ¥ ot & srgere F1 e Frer e #)
Ans .
X 1. Faer | IR B
v 2 | 3R 1 ST & safEa B
XagarlsradrllaaEea g
X 4 zhaer || Fafafea 2
Question ID : 678913933
Option 11D : 6789133729
Option 21D : 6789133732
Option 31D : 6789133731
Option 41D : 6789133730
Status : Answered
Chosen Option : 2
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Ans x 1. B
X2 A
X3D
v C
Question ID : 678913947
Option 11D : 6789133786
Option 2 ID : 6789133785
Option 31D : 6789133787
Option 4 ID : 6789133788
Status : Answered
Chosen Option : 3
048 Read the statement below followed by two conclusions.
Statement:
All cables are chairs. No chair is pen.
Conclusions:
1. No cable iz pen
2. All chairs are cables
Which of the conclusion/conclusions follows/follow from the above statement?
Ans  of 1 Only conclusion 1 follows
# 2. Both conclusions follow
/< 3. Either conclusion 1 or 2 follows
7< 4. Only conclusion 2 follows
Question ID : 678913928
Option 11D : 6789133709
Option 2 ID : 6789133712
Option 31D : 6789133711
Option 4 ID : 6789133710
Status : Answered
Chosen Option: 1
Q-8 2017 & gror & & A I vHRAHT FHRTET The F T T & qEw T god AR
5 after sedee 1 AW TA
A o e o=
X 2 FEAET HR
3. 9T FEUHS
X3 g T
& 4 AT FRH
Question ID : 678913987
Option 1 ID : 6789133945
Option 2 ID : 6789133946
Option 31D : 6789133947




Option 4 ID : 6789133948
Status : Answered
Chosen Option : 1

% sty Afyer fEw & 9 oW o warwr SEr i
Ans ?(1.9;:@;

v 8 am

X3 9 fgmeT

X+ 8 oIS

Question ID : 678913986
Option 11D : 6789133944
Option 21D : 6789133943
Option 31D : 6789133942
Option 4 ID : 6789133941
Status : Answered
Chosen Option : 2
Q8 Fewmr &, TEMPLE #F 053625 & &7 # forgr s @1 PRAY & faw &1 2 §2
ans of 16815
< 2 6816
< 3 6915
X 4 6814
Question ID : 678913929
Option 11D : 6789133716
Option 2 ID : 6789133713
Option 31D : 6789133714
Option 4 ID : 6789133715
Status : Answered
Chosen Option : 1
Q.8 : :
s 2017 7 TgFa 5T 710 9T & JT&T ~Agfier 7 A7 Tame?
A XK e e
v 2 g e
X3 . FerHET
X 4. AT #IgR
Question ID : 678913988
Option 1 ID : 6789133950
Option 2 ID : 6789133951
Option 31D : 6789133952
Option 4 ID : 6789133949
Status : Answered
Chosen Option: 2




ans X 1. 6189144

Qés afE TAM T ©F #15 % 7 F 20113 for@r =mar €, 3 GRIND & faw s =27 geme

Chosen Option :

v 2 7189144
< 3. 7189154
< 4 7199144
Question ID : 678913931
Option 1 ID : 6789133722
Option 2 ID : 6789133721
Option 3 ID : 6789133724
Option 4 ID : 6789133723
Status : Answered
Chosen Option : 2
069 In sexual reproduction, the parents contributes:
Ans 3 1. All of its genes
« 2. Half of its genes
X 3. Three fourth of its genes
/< 4. One fourth of its genes
Question ID : 678913979
Option 11D : 6789133913
Option 2 ID : 6789133916
Option 3 ID : 6789133915
Option 4 1D : 6789133914
Status : Answered
Chosen Option : 2
e 75+ [35— {63 — (79—54+-9x6)}]= ?
Ans « 1.5
X223
X3 25
X415
Question ID : 678913907
Option 11D : 6789133626
Option 2 ID : 6789133625
Option 3 ID : 6789133628
Option 4 1D : 6789133627
Status : Answered

1

% Scd WA T AR WEAT HWe F T
59967, 59964, 59961, 59958,
ans 1. 59956




< 2. 59954

v 5 59955
< 4 59957
Question ID : 678913939
Option 11D : 6789133753
Option 2 ID : 6789133755
Option 31D : 6789133754
Option 4 ID : 6789133756
Status : Answered
Chosen Option: 3
% Femgehe Fer F, AR T A verer AfEAE F & FaATET o
Ans X1 AR
v 2 GﬁF-I"fl:T
X 3. ATeET
X 4. IR
Question ID : 678913995
Option 11D : 6789133980
Option 2 ID : 6789133979
Option 31D : 6789133977
Option 4 ID : 6789133978
Status : Not Answered
Chosen Option : --
049 FesoT #, EARN &I 4073 & &7 # forar Smar 1 LIGHT & fow &5 #2r 82
Ans X 1. 19679
< 2 18671
< 318670
v 2 18679
Question ID : 678913930
Option 11D : 6789133720
Option 2 ID : 6789133719
Option 31D : 6789133718
Option 4 ID : 6789133717
Status : Answered
Chosen Option : 4

Q.9 Vviki cycles 2 km towards West and then turns right and cycles 1 km. In which direction is he with respect to his initial
5 position?

Ans  of 1. North-West
< 2. South-East
& 3. South-West
#< 4. North-East




Question ID

678913953

Option 11D : 6789133810
Option 2 ID : 6789133811
Option 31D : 6789133812
Option 4 ID : 6789133809
Status : Answered
Chosen Option : 1
Q.9 The name ‘Bharata’ is used as a designation for India in the Indian Constitution referencing the ancient mythological
6 emperor, Bharata, whose story is told, in part, in the Indian epic
Ans 1. the Upanishads
X 2 the Ramayana
X 3. the Geeta
+ 4. the Mahabharata
Question ID : 678913994
Option 11D : 6789133975
Option 2 1D : 6789133976
Option 31D : 6789133973
Option 4 1D : 6789133974
Status : Answered
Chosen Option : 2
°7'9 is used as a catalyst in the hydrogenation of vegetable oil.
Ans X' 1. Lead
& 2. Helium
v 3. Nickel
< 4 Hydrogen
Question ID : 678913973
Option 11D : 6789133891
Option 2 ID : 6789133890
Option 31D : 6789133892
Option 4 ID : 6789133889
Status : Answered
Chosen Option : 3

© frem & ugm w4
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Question ID : 678913948




Option 11D : 6789133789
Option 2 ID : 6789133792
Option 31D : 6789133790
Option 4 ID : 6789133791
Status : Answered
Chosen Option : 1
%9 Which one of these is found in human males only?
Ans X' 1. X — chromosome
X 2. XX chromosome
v 3 Y- chromosome
& 4 2X chromosome
Question ID : 678913980
Option 11D : 6789133917
Option 21D : 6789133920
Option 31D : 6789133918
Option 41D : 6789133919
Status : Answered
Chosen Option : 3
Q1 v 3wl T, &, 7% AT Tl s g a9 §) W Re, sEs arge @ e % e 9 @
00 =2oxr 3 Okg 3 &7 39T YT | TR FF T F AT 3G By T S wH 3eT F T Fv
20% 39T RBFaT ST &, O e s F T sugier T o g w330 F I & aregtae AT
(g #) =7 gar &2
Ans 1. 1500
< 21000
v 31800
< 4 2000
Question ID : 678913940
Option 11D : 6789133760
Option 2 ID : 6789133758
Option 31D : 6789133757
Option 4 ID : 6789133759
Status : Answered
Chosen Option : 3




